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- Assume the built-in potential of the diode is 0.7V. The small signal

. resistance, rq,0f the diode is 25Q. Draw the DC equivalent circuit and the
i - LK = 5 % 2 ~ . . . « .
ﬁ% —gp EF 'f?—i AR (1557%‘ ) small signal equivalent circuit, (5% each), and find the diode voltage, Vp, for
%18 %28 the circuit shown below. (10%)
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1. Calculate Ceq for the circuit shown below with R=10kQ, R,=IMQ, and ’
C=1nF. (20%)

4. Suppose the unit gain band width of the OP amp 1s, fr=3MH, find the
= o bandwidth of the circuit shown below. (20%)
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2. Given that v(1)=120cos(377t+50°)V, and i(2)=10cos(377t-10°)A, find the
instantaneous power and the average power absorbed by the passive linear

network. (20%)
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5. Suppose Vi=2sin(wt) V, the rms value of the output, Vou, is 2.828V for the
circuit shown below. Find the value of R;. (20%)
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